EAMBEND TR 2018/6/1
>HEET CTHEL 7 Mg 28 &
KATLECTY 7 MR 28 &
7[C0SCO RG] EE b =5 Mty B b B ES [ BEE 20141
4fE B KRk K &/ 8/B Xk X /8 K/AX K & WA
WETY THLER wh
Jov
[3[ONE &l B% E E-373 B Mty B TR R & ZEE B 2018.4
418 =} H/A A Kk K/AE B/K 2 K/k K P & + B Y-u/9-h -}
RETY THER 3 thoh/ P/ PR
JVH
3[SITC RE] X3 = a5 M7ty 80 =] [EE2 PN R s KiE EEE) KR R 2001.10
4 1B & B X x/ /8 X £/+ B A/k % &/ /8 A KR K =
WETY THLER
CJV4-S/B - CJV4-N/B
4TS L/CNC GERETY EAE E:373 L3 E3: I = A T Tw] =&  mM EE Kk #¢P 2005. 5. 29
418 ES £/ x A X K B/B  K/A K £/ x A/k /K K=YV /L - 997"
ATV THAER Fi%/F%
JTV
SWAN HAT KE] [£E3 BLTE B =77 ES O VIFTN Y N v1) VRN BB =573 & 3 R 1996.3
418 K K/A A K/K K B/B  AB/k Xk B/B  k/k KAk K/&2 A Z£Y RS
WETY THLER wE =
A/X JST
[6[WAN FAT &l B 3 53 E O MITT | EL g £33 R Y] ] L5 2007.3
4 & B A K/K X/& /8 B x/7K x/& &/t t/8 X x/& & + U RS
WETY THER =
JSH
T[WAN HAT/TAL KE] Em BriLl EaE) EE =573 M7ty %O B B EE3 2018.5
4 1@ + B B/B X ENES X/A &/ x/B /o &/t 2£Y RS
BTV THER =
JKH
>EEMEL 4 g 16 &
KKTVHCT 4B 6 &
T[ENC &l B% 312 3 S B E ] R Y] =& 2000. 7
418 X b3 & &£/ /8 A A/k Kk * t/8 %
BB P9%&
NSA
[2[ENC/WAN HAT RE] EE2 ait | BE = af ait PN R 2002. 3
418 &/ x A/k  x/Kk  K/E * B KA K P95 /4 bl
BB I/ =
JTH
EBE 2R &l EEEET EATT] L5 EX) BEIA How & =73 E-373 ETE T 2000, 12
4fE X X %k kK ES & + B/B HB/X % + A PEE S
BB SRy
KSX
4]Yang Ming/T.S.L [P97] EE2 0] St E3 af = i & (=] =P EE 2012.5
4B X kK X AX/& B A A/k KA K £/* /8 NETL VN
BB Pi%E/M %
PAS
> PEME < 14 fE& 60 &
(KTACT) 11 fiEs 48 8
TJCCC K] B% C3 £ ZW0 2008.5
4 E A X K/K &/t =] wrn
o E B wAa
QJX1
2[C0SCO e [EES ) PN 2017.5
4B U3 KA &/ A/K WA
hEM B WA
KSY1
3[HASCO RE] R rE TR B% N3 2013.08. 09
418 % A X X PN X HiE
o E B Bi&
u2
4]Jin Jiang RE] ] AE & % 2015.3
418 X k £/ t A =3
P E i B =3
U6
[ 5[SINOKOR REEEEEE OUZE =W &0 A T ] XE &=L B% 2015. 12
418 X %k X & + + B A S 2 A by —H—h
P E LB 9%
BSS
[ 6[SINOTRANS/SITC _[Fi=] oE B & EEZ A 8] =] B 2007.10.17
8 @ X #/+ +/8 B w]/K K &/t  A/k =
FEMS 4
PSU/PBU
7[STTC KK I BEE BB B% 2007, 10
4 E P 7K & /8 R/K R’
o E B R’
LTU
8[STTC RE] BT =) i &% 2007.10.17
4 fE & &%/t A X X =
hEME ®
SKU
9]Star Ocean el % R 2010 05. 26
4 A X &/t =
o E B =H#
SKU
10]Star Ocean RG] & K& % 2011.06. 22
U3 + B DY =3
P E i B =3
WDKU
[T &% ER5E | E3%] CE2 20181
4 {8 x B BHE&
o E B Bi#
J0a/Jn2
KVUECT> 3 Mgk 12 &
T [Dongjin [EIET Eaz) BR R B% 2011.10.3
1| 48 X & + A X X HiE
o E B Bi#
O [HASCO AR i RE i BZ 20181
2| 48 X & A X * X WA
hEM B WA




EhMBEND T MRS 2018/6/1
[T [STNOKOR OUZ  ZLn &0 Ea) B K& EI BZ E EE = BB 2016. 7
3| 4@ + + H A x & A x * X X & WA,
hEf WA
BSS
>EBEMBEL 1 fEg 4 &
<ATTECT> T 4@
TIHEUNG-A GEEE T L G T FhE 2016.3
4@ ® + + B x & £/t B X & B3l
FBMB B
SCS
>EEMRE < 14 fig& 100 &
LKATVHCT> 10 Mgk 64 &
T]CamelTia E] T BT LB Z0 RE] FE ET (32 E 2007. 11
A A A/k Kk X X X/& /B % t/8 W,
BEMB Srrvy
CONTAINER
2[cK RE] ET L@ T8 FVy=B 7 EQERRETT 2010.8
4@ & + B A X %k X X [RE
SEMB E
JKS2
[ 3[DONGJIN RE] O0=Z=  ZWl ZLPE B0 Rl E ZILEE B 20013
8 & X S FS P & & t/A B x [
SEMB P
BHT
[ 2[DONGJIN REE D RE B% =0 ZWLHE Ma % E 2017. 11
12 & X X X 7k x X & & + + H/A B
HEMB P
BMX
S5THEUNG-A RE] &% Z0 SE BZ Eq E] B% 20 79803
12 @ A A x X X x & & | B3l
SBEMB B
JMH1
B[KMTC F= B0 FHE =W 2017.4
48 X x/7K Vi A& wh
BEMB WA
SPV
[7Tice RE] ZaE OU= &0 B 2015. 7
4@ X + B A/X K/ [WE
SHEMB ES
JP2
8[Nam Sung F97] EE2 E3 ] R I ETNED) 2015.5
4@ K x X/ * + B A/Xk Kk Bl
SBEMB B
JKS2
[ 9[STNOKOR REECEE E ZELG KT (32 AW 53h 0] ETNED) 2003.8
4@ A A x/k ok x X & & t/B B —H—
SHEMB P
MSX2
[TO[STNOKOR RE] e ZILE E0 e B TR 20 =0 @ B ) 2013.5
4@ X & + B A X K k X FS L—H—
HEMES P
NKJ1
KVUECT» 3 ik 12 &
T [Dongjin [T ZLFE B0 RE] Z0 ZLFE B0 RE] 2010. 9. 30
1| 4@ 3 x x & & t/A AR x X B3l
HEMB Bl
BHT
[OCe e B3 RE] REE 2018. 4
2| 4@ A B/&  K/K K + (ES
SBEMB SES
JP2
[T-[NAM SUNG U0 &0 52l Fr=5 B0 5% e 2018.2
3| 4@ X & t/B A X X X B ST M7/ \ B
SHEMBK BEES M7/ \ B
LKINED 1 fEg 24 (&
/N[CAVELLTA (RORO) |/N& _ ZL#E =~ XA~TO7A U &m 20184
1| 24 @& A~t k~H Srrvs
SHEMB Sxhub
It 3 F9 =] VUE RORO - 71Y)- &5t
mems | Eu/A | mmw  Ew/e | wmew | Ew/A | smen | Sm/A
RA7Y 7 7 28 0 0 0 0 7 28
fE 1 48 3 12 0 0 14 60
B 1 4 0 0 0 0 1 4
‘i 4 16 0 0 0 0 4 16
#E 10 64 3 12 1 24 14 100
=t 33 160 6 24 1 24 40 208




